
1. LIFF INSURANCE EXTRA COST TO SMOKERS. WHY? 
Smokers pay more f o r  l i f e  ilrlsurance because 

d i e  5 t o  8 yea r s  e a r l y .  
The American Heart Associat ion u se s  z y e a r s  a s  average.  

Q Q? 
2. l h a t  doe; t h i s  nean t 6  a SlifOKERS ltHO GETS A PCRSION FROlf GE, G!!, 

IBM, Teachers Union, e t c  .? 
This says  t h a t  t he  smokers w i l l  not  l i v e  on.gverage,to r o l l e c t  h i s  

, . '  1 .  
say S2O,000 a year  pension f o r  L y e a r s . 4  , 

So h i s  nonsooktng widow WS $- i n  penqods. and GE,W:, c t c  
save S140,OOO. 
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In the  decade of t he  19RO1s, t he  companies W l i o n s  of d o l l a r s  
i n  pensions no t  c o l l e c t e d  by e a r l y  d l  of w. 
3. So when one does f i n a n c i a l  planning one should cons ider  t he  problem 
of exneetanc . + . - 4  

!?onen i v e  ahout 7 yea r s  longer then men 6 n  k v e r a ~ e .  (The number 
of people l i v i n g  p a s t f i  years  has  gone up 3 J X  recenltly.1 
The widow of smoker w i l l  have an, e x t r a .  3 years  on averafle of  wido~~hood.  - 
A t o t a l  of about yea r s  a lone .  ' 

This means she w i l l  l i v e  much poorer because she w i l l  not  have h i s  
pension and the  s o c i a l  s e c u r i t y  f o r  two people. 

5.  I f  a nonsmoker r e t i r e s  a t  age 65 and l i v e s  t o  be 79 (averape f o r  
male),  how much noney w i l l  he c o l l e c t  from the  pension fund? 
In  OUL example i t  w011ld he* times 920,000 per  year  f o r  a t o t a l  of 
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6 .  The widow a l s o  l o s e s  some of his Socia l  secur i ty .& = 

The average SOCIAL SEClJRITY I N  1992 was over 


